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Obtain the same solution as the textbook on p. 368
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d
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dv = sinx dx
UV = —COSX

u=»Xx

stmxdx du = dx,

judv=uv—Jvdu= —xcosx—j(—cosx)dx= —xcosx +sinx +c¢
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u—sinx, dv = xdx

jxsinxdxzuv—fvdu du = cos x dx,
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u = x?, dv = sinx dx
2
jx sinx dx du = 2xdx, V= —COSX

—x%cosx = — ](—cosx)Zxdx= —xzcosx+2jxcosxdx

u=x, dv = cosx dx
X cosx dx .
du = dx, vV =sinx
= —x2cosx+ 2| xsinx — | sinxdx | = =x%2cosx + 2xsinx + 2cosx + ¢

u = e?*, dv = sinx dx
o 2x _
jezx sin x dx du = 2e“*dx, V= —CoSX
- 5 [ g2x ; u = e?*, dv = cos x dx
= —e“" cosx + e“” cosx dx du = 2e2*dx, v = sin x
= —e?*cosx + 2| e**sinx — 2 f e?*sinxdx | = —e?* cosx + 2e?* sinx — 4j e**sinxdx + ¢

ThuS,J e**sinx dx = —gezx COS X +§ezxsinx +c
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Finally, Jx“ eXdx = x*e* — 4x3e* + 12x%e* — 24xe* + 24e* + ¢
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2}Al (Reduction Formula)

&2lo| Xt == nOfl CHotO]

fx" eXdx = x"e* — nfx"‘1 eXdx

u=x4 dv = e¥dx
du = 4x3dx, v=e*

= x*eX — 4fx3 eXdx
fxg‘ eXdx = x3e* — 3jx2 e*dx
sz eXdx = x%e* — ZJxexdx

jxexdx=xex—fxoexdx+c=xex—ex+c
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jcos4xsin3xdx U = COSX, du = —sinx dx

cos®x cos’x

=—5+7+c

(case 2) m E&= nO| Y2 =0l 42 = HIZIZA ALE

1
sin? x = 5 (1 — cos2x), cos? x = 5 (1 + cos2x)

1 1
<O A| > jsin2 xdx = Ej(l — cos2x) dx = E(x — sin2x<

1
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1
>>+c=z(2x—sin2x)+c

Note: u = 2x,du = 2dx= O|85}¢ X|=tgh =& QIC}
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sinx +cos?x =1 . sin?x =1 —cos?x
cos?x =1 —sin®x
. 2 1 2 1
sin®x =3 (1 — cos2x) cos”x =7 (1 + cos2x)
sec?x =1+ tan?x tan’x =sec?x—1
csc?x =1+ cot?x cot?x =csc?x—1
J sec’xdx =tanx + ¢ fcsczxdx:—cotx+c jtanxdx=—1n|c05x|+c
Jrsecxtanxdx=secx+c fcscxcotx=—cscx+c
sin x COS X 1 1
tanx = cotx = — secx = CSCX = —
COS X sin x COS X sin x

1 -1
jmdxztan X+cC

dx =sin"1x+c

Ji=



<Ol H| > jcos‘*xdx = j(cosz x)? dx = j E (1 + cos Zx)]

1
= Zj(l + 2 cos 2x + cos?2x)dx

1
where, cos? 2x = 5 (1+cos4x) O|BEZ
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B. tan x@tsecx’/| Zat=l 42

m n
jtan x sec” x dx Note : sec?x =1+ tan?x or tan’x =sec?x —1
(case 1) mO| 9| ==

= secxtanx = OlL} 22| = tan?x S sec?x — 12 HHH 1D = y =secx2E K=

<Ol A > j tan3 x sec® x dx = J tan? x sec? x (secx tan x) dx

= j(sec2 x — 1) sec? x (sec x tan x) dx u = secx, du = sec x tan x dx

1 1
=J(uz—1)u2du=J(u4—u2)du=§u5—§u3+c

1 .5 LI n
=—sec’x —zsec’x +c¢
5 3
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= sec? xOlLIE2| » HOI/JUEsec?xE 1 + tan? xE HHE - u = tanx=E X|2h Tx tanx = sec?x 0|8

<0 X| > f tan? x sec* x dx = j tan? x sec® x sec® x dx = j tan? x (1 + tan? x) sec? x dx

u=tanx, du =sec?xdx O|BE &

2 2 2 4 o4 w?ow 1 3 1 s
=ju (1+u)du=j(u +u)du=?+?+c=§tan x+§tan x+c
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secx + tanx
secxdx = secx( )dx
secx + tanx

J secx tanx + sec? x

dx =In|secx +tanx |+ ¢
secx + tanx
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j > dx a =20 sl|lEgt

x2V4 — x
x = 2sin@, dx = 2cos 8 do
2 cos6 cos 6 cos 6
[ 0= | o= | ’
(2sin 8)2,/4 — (2 sin )2 2 sin2 8 V4 — sinZ2 25sin2 0 2V1 —sin2 6
—j 059 de—lj : de—lj 29d6 = —2cotf+c= ey
=) 4sin20cosf " " a) sz Ta2) " -2 €= 4x ¢
_ X V4 — x2
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cos@zL /a? + x*

. VaZ+x2 eV =——
wx* tang = = t 6( 7T<49<ﬂ)
anf = — x =atanf (—= =
\7 X a 2 2

Nror
f va?z + xz—\/a2(1+tan29)—asec9—a< =+ a? + x?

a
a=3
x = 3tan 1 g 3sec?d d9=j 3sec?d "
dx = 3sec?0d6 V9 + x2 V9 + 9tan2 6 3vV1+tanZ 6
sec? 6 X\2 X
=J d9=Jsec9d9=ln|sec9+tan9|+c=ln 1+(—) +—-|+c
secO 3 3
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X 0 = X
sect = — e = 2 — g2
X
2 _ o2
Jx2 —a2 =+/x2—-25 X =asecbt tan9=u
a
0
a=>5
Z _
j X 25dx x =5secf, dx=5secHtan6db
X

B \/(5 sec0)? — 25
B 5sec@O

(5sec@ tan8)do =j5\/sec29—1tan9d6 = SJtanZHdH = 5J(sec29—1)d9

=5(tan6 —60) + ¢ Note: x =5secf E EE 6 =sec? (g) o]

= x2—25—55ec‘1(5)+c tan® = sec2 6 — 1 = (E)Z—1=%\/m

c 5



<Ol X|> Alternative method for the previous problem

5
sin 6

xsinf@ =5 X =

= 5cscé dx = —5cscO cotf db

Vx? — 25 V25 csc? 8 — 25(—5csc cot )
f dx=j d8=—5j\/csc29—1cot9d9
X 5cscl
x c = —5]\/cot29cot9 do = —SJcotZGdH Note : cot?6 = csc?6 —1
= —SJ(CSCZH —1)d6 = —5[—cot8 — 6] + c = 5(cot0 +6) + ¢
6

x% — 25 =\/x2—25+5csc_1(f)+c OT\/X2—25+5SEC_1< a 5>+c

5 x%—2



(case A)

a,x + by A B

(ax + by)(azx + b3) B a,x + b, * aszx + by

O 7|0 M ayx + by, ayx + by, asx + by 7t 25 CHECE
(5, ofH A= LIHX] Aol 4==Hi7t Ot H )
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x24+x—2 x

1 B 1 B A N B
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rot
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1
whenx=1 - 1=3A+0B=34 - A=z

x=-2 > 1=0A+(-3)B=-3B _>.-.B:_§

h fl LY M M=t 1 = 221 +
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case B
( ) p(x) 1 Co Cn

(a1x + by)(a,x + by) - (apx+b,) aix+by a,x+b, anpXx + by,

7|0 px)el At=7F nELCE 210, 229| Ql5== a;x + b; (i = 1,2,--+,n)0| 25 CtEL}

<O X[> M7ie| M= CtE EXted

3x2 —7x —x
j 3 dx
x3 —x
3x%2 —7x — 2 A B C
=—+ + OFHH _ S TSiC
xx—Dx+1) x x—1 x+1 FHO x(x -1)(x +1)S =Lt

3x2 —7x—2=Ax— 1)+ 1) +Bx(x+ 1) + Cx(x — 1)

when, x =0 -> -2=AF1D)A)=-4 -> ~A=2
x=1 - B=-3
x=-1-> (=4

2 3 4
Thus, f —— + dx =2In|x| —3In|x — 1|+ 4In|x + 1| + ¢
x x—1 x+1
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x%2—2x—8
2X
x2 —2x —8+/2x3 —4x2 — 15x + 5

2x3 —4x? —16x (-
x + 5

3 1 1 1 3 1
Thus, j[2x+—< )——( )]dx=x2+§ln|x—4|—Eln|x+2|+c



(caseC) _PX __a @ . Cn
(ax+b)* ax+b (ax+ b)? (ax + b)"

p(x)2| Xb==7F nELCH 21 227t (ax + b2l nHlF), & (ax + b)™

<OH> =27t XL HMZ0| [e F==2
()_5x2+20x+6 5x° +20x + 6 A B L C
Jx) = x34+2x2+x  x(x+1)2 (x+1) (x + 1)

& O x(x + 1)22 &L

5x24+20x+6 =A(x + 1D? +Bx(x + 1) + Cx

W hen, x =0, A=6
x =-—1, C=9
Choose any value x =1, B=-1

Th j5x2+20x+6—j[6 . + ’ dx =In|6| —In|x + 1| = 9(x + 1)1 +
us x34+2x2+x ) Ix x4+1 (x+1)2 * = In 6] = Inix X ¢



(case D) p(x

< Off Af| >

Oof L 27{} I E'é.;.*

()2 At==7F 2n 2L &0, 227t QleE 0 E|X[H=

p(x)

(a;x? 4+ bix + ¢cy)(ax? + byx + ¢3) -+ (apyx? 4+ byx + ¢;)

Note :

Xl2tofl 2|5 A HE7ts

Aix + B, A,x + B, P A,x + B,
a,x? + b,x + c,

= +
a;x*>+ byx+c; a, x>+ b,x+c,

() = x2—5x+2_2x2—5x+2_A+Bx+C
Jx) = x3+x  x(x2+1)  x x241

QGO x(x2 + 1) BB}

(@)

2x2 —=5x+2=Ax*+1)+Bx+C)x=(A+B)x*+Cx+ A

xQ| 2 At==0f Lot = H|WTtCt

2=A+B, -5 =0, 2 =24, ~B=0

Thus,
us x x%2+41

x3 4+ x

2x% —5x + 2 2 5 ~
j dx=j —— dx =2In|x|—5tan"'x + ¢




5x2% + 6x + 2 A Bx + C

DR sy i el el oo S ¥ S PR

UHHO|| (x + 2)(x2 +2x + 55 &=L}

S5x2+6x+2=A(x%*+2x+5)+ (Bx+ C)(x + 2)

FHO|M x2| €2 Xr2| A =Z H|uSHH

5=A+B, 6=2A+2B+C, 2=5A+2C ~A=2  B=3  (=-4
5x2 + 6x + 2 2 3x — 4

Now, dx = d SHE g HE

o (x+2)(x2+2x+5) j<x+2+x2+2x+5> « FEMEA

f 3x — 4 g _J
x2+2x+5 =

3
et aessi |
2 n|x®+ 2x + 5] x?>+2x+5

j 7 d‘j 7 d_7j 1 {/_1_7(2)t EEEAN
A +5 0 T )+ 02 +47 T3] 1 X =g nn 2 ¢

(3 )2“

Th AL pnpx 42+ 2 Infx? 4 25 4 5] —ran-t (0 2) 4
w G+ D02+ 2x +5) X = 2lnle+2f+ 7 Infx® 4 2x 2 A 2 ¢

3\ 2(x+1) 7 ) _3j 2(c+1) J 7 ]
2)x%2+2x+5 x%2+2x+5 x_Z x2+2x+5 X x2+2x+5 x

s

=
i i

0ot

dx S




> K3 MEDAl j—du;/rmz_am

J

X

=j\/(\/§2j+u2du=m—\/§ln

2dx u = 2x,

V3 + 3+ u? N
C
u

a+ va? + u?
+cC
Uu
du = 2dx

=3+ 4x2 —+/3In

V3 4+ V3 + 4x2

2X

+cC



whenn = 6, Jsin6xdx = —gsin

SR e HE whenn=4, [sin®xdx :—%sin3xcosx+2fsin2xdx
N 1 1 1 1
CHR 2 M E whenn = 2,fsin2xdx= —Esinxcosx+§Jdx=—ESinxcosx+§x
Th f‘6d L ins > Gin3 > +5+
us, sin® x dx = ——sin® x cosx — —sin®xcosx — —sinxcosx + —x + ¢
: 6" 24" 16> 16

L

. . 1 . e n-1, . n_
M [sin®xdx = [sin"udu=—=sin"tucosu+— [sin"?udu

5

xcosx+gfsin4xdx



n =3, u=2x - du=2dx

1 (2X)3 . 1 3 . 1 3 2
=§J >3 sm2x(2)dx=1—6ju 51nudu=1—6 —u cosu+3Ju cosu du

: fuzcosudu=uzsinu—2jusinudu

SHR o HotM M ESA A E. fusinudu= —ucosu+fcosudu
Lo 3,3 3
= ——uldcosu+—u?sinu+—ucosu ——sinu + ¢
16 16 8 8

L (2x)3 cos(2x) + 3 (2x)? sin(2x) + 3 (2x) cos(2x) — Esin(Zx) +c
16 16 8

3 3 3
Thus, j x3sin2xdx = — §x3 cos(2x) + sz sin(2x) + 2 X cos(2x) — 3 sin(2x) + ¢



<Ox|> X|ztotn HMEE O
sin 2x _ — o i e
\/4cosx—1dx sin2x= O|H{|Z} 412 0| 29510 HA sin2x = 2sinx cosx
— \2/smxcosx dx u =cosx, du = —sinx dx= X|2otCt
4cosx —1
= —Zdeu HESA O|&: ]Ldu =i(bu—2a)\/a+bu+c
vdu — 1 e < va + bu 3b2

(where, a=-—1, b =4)

2

3(4)2(41,L+2)\/41,L—1+c

= (-2)

1
= —E(4cosx+2)\/4cosx— 1+c



<=M 2>
fezx\/1+exdx u=1+4e* -e*=u—-1, du = e*dx
3 1 2 5 2 3
=jex 1+exexdx=f(u—1)\/ﬂdu=f(uZ—uZ)du=§u2—§u2+c

2 5 2 3
:§(1+ex)2—§(1+ex)2+c

2 5 3 2 3
=1z l3(1 +e*)2 —-5(1+ ex)fl te =1z l(l +e*)2(3(1 +e*) — 5)] +c

2 3
= 1—5(1 + e*)2(3e* —-2) +c



<=M 14>

Jextan"l(ex) dx u=e”, du = e*dx

— -1 — -1 _1 2 — X -1 x_l 2X
= | tan ‘udu=utan " u 21n(1+u)+c-e tan e 2ln(1+e )+c

N eX - e* 1 2e*-e”*
1+ (e*)? 21+ (e¥)?

d 1
(prof) T (ex tan~!e* — Eln(l + (e*)?) + c> =e¥tan~le*

= eXtan~le*



